515 520 525 OstwaldFarben (o), Y\\~=88,6 X,=84,19,Y,,~88,59,7,,=96,46 BD
08 g N ratel () iS22 8 T
y si’? Name und Spektralbereich QO_EZO_FO'":BO'V:BOA% J 4
m Ry 561_770 ¥, 520_770 Ul Do,100,v+bp,l
asM Gm 475 573 G, 380_561 ag = ao [x/y] 58 + 7
NG9'sB,,, 380_520 M, 573_475 bg = bao [2M)
U ay =1, byp=-0,4
Ao
, , , N
n = D65 _4'0 ! ! 4r0
2628 ag,y=ay(Y/Y1g-1)
9%95¢,E b, y=boy(Y/Y1g-1) 30
ay=0,000,5,y=0,000 5 T
ag =0,000,by A=0,000
CIE 1931 X OstwaldFarben (o), Y\\~88,6 1
max (m) Buntwert, D65 T-48
0,6 0.8 10 Buntwert (Ag, Bg)
CG331-1A_1 CG331-2A_1
X,=84,19Y,=8859.2,~96,46 B, X,=84,19Y,,=88,59.2,=96.46 B,
xy=0,3127y,,=0,3290 T42 X=0,3127y,,=0,3290 +40
Ar=(ar~[ag n+ay yt+ag al) Y 89 Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) Y B;=(b—[by 02 y+02 Al) Y
a1 =ay[(x-0,179H] 58 T 7 a =2y [(x-0,171)/y] 83 T
by =byo [ZA 0,=byo [(Mp1x-+bp1)/y] 9
80=1, byp=-04 =1, by=-04 ‘6’0\ 37 A
mr1=1,000,bp1=0,171 \ \ A Mp1=-0,169 bp;=0,389 \ : 2
n = D65 —40 ' ' 40 n = D65 —40 5 ' 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) oL 3
by y=boy(Y/Y1g~1) 30 by v=boy(Y/Y1g-1) 19 5
ayy=0,000b,y=0,000  © T ay=0,000,b,y=0,000 T
a3 4=0,000,b; 4=0,000 a 4=0,000,b,,4=0,000
OstwaldFarben (0), Y\~88,6 19 5 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, D65 T-40 max (m) Buntwert, D65 T-40
Buntwert (A, B;) Buntwert (A, B))
CG331-3A_1 CG331-4A_1
X,=84,19Y,=88592,~96.46 B, X,=84,19Y,,=88,59.2,=96.46 B,
xy=0,3127y,,=0,3290 +40 X=0,3127y,,=0,3290 +40
Ag=(az-[ag ytag y+agal) Y As=(ag-[ag ntas,y+asal) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y 83 69 B,4=(b4~[Dy, 7+by y+by l) Y
a3 = a0 [(x-0,172/y] E 83 =20[(x-0,179h] +83
b3=byo [(Mp1x+bp1)/y] 7 b=, [(Mpyx-+bp1)/y] 69
80= 1, byo=-0,4 58 a=1, by=-04 /755——{)\0%7 A
Mp1=-0,974,b,=0,658 ; \ e Mp1=-0,169 bp;=0,389 \ ) \
n = D65 —40 ' j 40 n = D65 —40 ' ' 40
a3 y=ay(Y/Y1g-1) sy 3y, y=agy(Y/Y1g-1) 5
b y=boy(Y/Y1g-1) 5 L by y=boy(Y/Y1g-1) 191
ayy=0,000,b,,=0,000 o ay=0,000,b,y=0,000
a3 4=0,000,b5 4=0,000 a4 4=0,000,b; 4=0,000
OstwaldFarben (0), Y\\~88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, D65 T-40 max (m) Buntwert, D65 r—40
Buntwert (Ag, Bg) Buntwert (A4, Bg)
CG331-5A_1 CG331-6A_1
X,=84,19)Y,=88592,~96.46 B, X,=84,19Y,,=88,59.2,=96.46 B,
¥=0,3127y,,=0,3290 ae %=0,3127y,=0,3290 20
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs +bs y+05 ) Y 83 Bg=(bs~[Dg,n+bs y*+0p Al) Y 83 o
85=8,,{(0,86¢-0,71y-0,026)$] 169 g = a0 [X/y]
b5=b2x[(0,19<+0,3&—0,24(1€0\ 7 be=b0 [(Mp1X+bp)/y] 37
agy = 1,00,by, = 1,00 ap=1, byo=-04 &58 A
Ag,G.v,R=475,503,574,4940E nm \ 5 \ \ \ 3%
n = D65 —40 \ ' 40 n = D65 —40 ' ' 40
a5 y=apy(Y/Y1g-1) 51 30 ag y=apy(Y/Y1g~1) 30
bs y=boy(Y/Y1g~1) { b, y=boy(Y/Y1-1) 51
ayy=0,000,b,y=0,000 19 ay=0,000,b,y=0,000 by
a5 4=0,000,b5,4=0,000 a5,4=0,000,b5,4=0,000
OstwaldFarben (0), Y,~88,6 OstwaldFarben (0), Y,~88,6
max (m) Buntwert, D65 r—40 max (m) Buntwert, D65 T-40

Buntwert (As, Bs)

Buntwert (Ag, Bg)

CG331-7A_1

CG331-8A_1




